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The Average temperature sensor Manual

It can be used for a larger space environment testing, where only the average temperature of multi-point
measurements is needed.

An average temperature sensor supplies a standard output value (Pt1000 or Pt100) through series-parallel
multi-point temperature measurements from the multi-point temperature sense components (4 points or
more points) which are mounted on a trunk cable. It also can supply OV ~ 10V or 4mA ~ 20mA output if you
choose an additional circuit.

The length of the average temperature sensor are 0.4m, 2m, 6m , or can be a special custom.

The average temperature sensor commonly can be used on the coil cooling in AHU witch airflow is over
100,000m%/h.

Model Probe Length(L) | Sensitive Components
Pt100/P-0.4 0.4m
Pt100/P-2.0 2.0m Pt100
Pt100/P-6.0 6.0m
Pt1000/P-0.4 0.4m
Pt1000/P-2.0 2.0m Pt1000
Pt1000/P-6.0 6.0m
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The correct installation:

Electrical Principles: Wiring:
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Dimension diagram:
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